OSmK--- S HEHERSHS g
1T, BAREESHRRE

TR 7S T R IASE 3

—. 1B 20% (B 140

L= o475, AT, 8 A 4 N EH 2 —HEL EAHUE ( )
R HE R A DAAP ) BT T R L) 2 ( Do

2.49+ ( )= i—0)=75%=24+ ( )=C )R C D

3.§H@éj\iﬁz$4ﬁz% ( ), Wik ( ) AL R AL N R
e

4. 8 FAETE B 10 TRKMIAR, THGREZERABK % . R
B ) Tk

5. SAESEEBIAE X, HhmRm—AMESE ¢ ).

6.ﬁﬁ%%ﬁﬁmg,ﬁﬁﬁﬁmﬁﬁﬁmgﬁw%< )

7. ARS8, CERREEERER ¢ D .

8. —/MMIREA 3ANLAER, 8 MERK, (EEHE A, BIRZBRMI A RENM R
C D, BRI C ) AR, ﬁﬁﬁ%&iﬂﬁ%ﬁ‘]ﬂﬁ%ﬁ%

9. 36 MHHA ( ), EFHAH— A BEBHS A, XA
L2 ( Do

10. 4EFANTE A — BRI IE 7 Pt — K7 i, PF AR K7 R R TR SR
%%&Eﬁ%ﬁﬁﬁﬂ%‘%%o

11— AN EFEAR AN — A AR A S, R AR S, B RS2 6 70K,
B4R C s

12. W N EA 5 AR B — A KK, AR K
A 10 JEK, KR () EX. |

—. HEHTEFE 5%
1. —IRET, BIRWIE, BBk _;‘zk 5B LA K %ﬁﬁm )
A, FEK B. ¥ Bk C. ME—FK D. Tt

. FEIRAERRRE AR, X PUREBARKER ¢ D M{ 5
N

\S]
At

A. M+N B. 2M+2N C. M+2N D. 2M+N

SRS e, Foh, B, SR TR .
% 1T, DAREESRAR




OSRG-S FBHERSHES i
1T, BAREESHRRE

3. NI UL AN R A 7 2T B3 # 3
80 38 45 37 42 38 40
O C ) AR UL 227 >0 B B IR DU 0

A. TP B. i C. A3

4. FHIEDES, diFcphm 2 ¢ )

A. K% B. IEAF C. &=/}  D.
5. TEIRARIETEREIEIRZ ( )

A. B. C.

=L gOitE: 29%
1. BHESHES: (54

0.77+0.33= 10--0.1 9+%= 1-0.09= 32X 25%=
gx Logxlo 5eqs Tyl oo 11i2o
8 8 3 3 33

2. WE N A EUEAE REPUERSE: (18 7))

12.5X3.2X25 LRI SRR T.0,2 55

2748 64 95 o 1
o33+ L 5000-27 18X 106 L L4y s
27 45 10 375 15

BS e, T, B, BRI
% 19T, DAREESHEAE




OS8R RN FENERSES o
ST, BRIk ESREATE

3. FSRHE: (640
(D XJJDLEE‘J%;‘%%Q ) éﬁxﬁﬁtb%?%tbgﬂﬁﬁﬂi&o

V. #EEH: 10%
1. E THAKEFE—NEA=AE, CR=AERANSARTE, 2
WAEA (2. 3), B (4. 5 WIfiE E, ABEMAKTA C M ERLIE (
Do

SO = NDWwWbhAuanJI00O D

12345678910111213141516

(D FRXAD=FMILG5E A R B 900 XA =M )E, HBIRfa %
3 4%
(2) FRERAD=MBIL 2. 1OK)E, EEGERE.

2. (1D EPEAZERR ¢ O W C > C ) o0m ¢ ) KA.
A

v

40° L

0 200 400 600
)

(2) DEFEEFERACR AR 300771 500 KAk, 7EE AR HAEERIALE .

T fREE: 35% (351 384y, &5 2-4 G545, 6 WEEE 5 3),
R (8h ) ANt

VS s, b, EE, IR TR
ST, BAREESHESE



OSmK--- S HEHERSHS g
.
T, DAREESHERR

(1) HREZEA 80 A4, NRIAKIL LER 4 502 124, XAHHE
EXIAHZ AR

(OR) ' A LA A HE 17 W, BEDY A4 452) 1 15%, VY H 4 F 2 b ?

(3) “AROFT i — MU, SERRREE 160 1o, HTHRITZ) 1 40 5o, 1

WTESZIL?
<@f%WWEm$ﬁ,%~w@m§,%:m@$§$ﬁ,%m%@$z
T2

2.%~%@&moxm¢%,m6ﬁ%&7§,%ﬁﬁmﬁg,@%ﬁ%
N B T 2

3. . ZPAHER 660 ToK, PRI FIN A Z Pt I, 223 6
NI ARIE, A S PR ERAT R T 2 /NI, XN ZE A R 2 /D ToK 2

Th-amo]
SRS hE, b, ER, SR

"

SRS ST, BIEKEESHELE



OSRG-S FBHERSHES i
1T, BAREESHRRE

4. LLR/NFERBONHE R XA, To SNFEHFEFK 1260 76, SNEHRF
FIRFBUR RN S, NEGEERRE I
4

5. fM— AN BEEE AN, REER 6 02K, & 8 K.
(1) SOl R 2 07 (AR B B0

(2) WRETHME 0.84 T3¢, XAMAfRm 2> Fr0?

6. 5P A S R/ N B I i

(1) XAYEIAT 2D NS/ N ?

K E 2H 46%

%E‘kéﬂ 26% (2) %%)jﬂﬁ—‘_ﬁéﬁﬁqj\ﬁt[ﬁ%%éﬁgg’/[\}\?

EARY 14 A (3) ARG — G AR o R -




OSRG-S FBHERSHES i

R T, BRREESERR

SEE RN IrH

BN i/'ﬁx‘/_‘:l:?iﬁﬁijz_‘.i: llél\éj\ 20 éj\) ‘7‘:[_“? 1 éj\
(1) 95080.4 95080.0 10 /5
2) 12 30 32 AN
1 1 5
(3) = 14 4 = —
9 8 4
X 3
(5) T+2 (6) 5: 3 (1) ARk 8 77 5
3 A 11
91, 2, 3, 4, 9, 12, 18, 36 1: 18=2: 36 (H&)
QL)) % (1D 18 432K 12) 12
R v/t 3 By 5y, BB 4y
1. A 2. A 3. B 4. C 5. C
=, iE 24529 oy
(1) HEFESHAE, 58 0.5 7
3 1 5 1 4
1.1100 9= 0918 — = — 0.04 —
4 64 7 2 3
(2) THERE (gt wi e FER 3 4y
12.5X3.2X25 1,111 T2 o5
2 4 8 64 9 5 9 11
=12.5%X0.8 X (4 X25) =1-L =Z><i+3 3
64 9 11 9 11
~10X100 _3 S 12
64 11 9 9
=1000 _S
11
[l- <§-§) ] +l 5000-27 18X 106 <l-l+i) X 45
2 45 10 3 5 15
=(l-i)+ 7 =5000-1.5X 106 _1 ><45-l ><45+i X 45
2 200 10 3 5 15
_7 X 10 =5000-159 =15-9+12
20 7
1 =4841 18
2
(3 FA & FERE 3 (B2 il B 14— D
X—I—%X=E ! i: X=g: Z
3 4 5 3 6
_9 x=1
20 5

NS e, T, B,
5 19T, EDAIEEE

TR EFTED
EEMRER




OLEMi--- S INFBHERSES
R T, BRREESERR

VO, $fE M 10 TG 5 4y
1. (4, 3) 8¢ (2, 5 2. (1) /4 [i] 50 400
10
ol A
3 D
7 3
; B /// >
4 va R
a A A
2
1€ 3 H
0 12345678910111213141516
E: EUH R R
T ik in) SH—RE 8 4y RS 4y 5. 6 PEREE 6 41
1. 80X4+12+80 B 80X (4+1) +12 (2) 17+ (1-15%) B{ X-15%X=17

(3) 40+ (160+40) 4 10><§+%

2. 1+ (§+6) -6=9 (K) Bk 240+ (240><%> +6]-6=9 (K)

3. 660+6X2=220 (F£K)

4, 1260+ (5+4) X5=700 (Jj5) B 1260 (ﬁ) =700 (JG) BY 1260+ <1+§) =700
o)

5. BN 3

(1) 243.14X6X8X3.14 X (%) 22208 CFJ54rK)

(2) 3.14X (%) 2X 8X0.84=189.9072 (T-7)

6. FF/NEL 2 7y

(1) 14+ (1-46%-26%) =50 A\
(2) 50X (46%-26%) =10 A
(3) (H&






